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fREET 10,321 10454 11,714] 22,168
=L} 14731 16550 17941 344911 s | 96321 | 27,386 | 29,946 | 57,332
& FeET 3,148 3,147 3,341 6,488
HA P BT 2111 2114 2247 4361
KEHT 3.386 3,717 4,076 7,793
Jt ¢ T 872 856 945 1,801
AR | 50170 5417]  5804) 11221 | gms | p608 | 27360 | 29921 | 57281
S&t| 26,328] 27.360] 29921 57,281
X F A # & & A 0O
KF K 2 £ 5 K=F T &5 = E KF Gkl 5 £ K
AN 1,250 1,319 1,460 2779 | EH 20 21 24 45 XA 25 20 26 46
[ 1,358 1,229 1,427 2656| | REH 29 21 34 55 3] 0 0 0 0
= H 1,477 1,506 1,682 3,188 = 16 15 14 29 1A 401 430 498 928
25 1,354 1,417 1,550 2,967 L 13 10 18 28 A 661 766 812 1,578
RES 1,139 1175 1,266 2,441 =B 6 7 5 12 BB 246 266 293 559
INEE 929 869 1,012 1,881 KE 149 222 229 451 =t 80 67 99 166
I 261 248 291 539 E% B 108 123 117 240 ] 108 134 130 264
JbE 471 484 537 1,021 KK 414 458 525 983| | £EBE 120 142 164 306
FEX 392 431 463 894| | IREIS 71 89 94 183| | HEE 169 179 185 364
fit] 5 245 228 288 516] | AR;EH 769 805 898 1,703| | B 36 40 37 77
o= 1,445 1,548 1,738 3,286 &K 809 898 955 1,853 | AAEE 38 43 48 91
BH 1,242 1,397 1,518 2,915 xB 847 826 893 1,719 5 460 458 464 922
e 231 258 276 534 mE 195 243 302 545 FR 313 338 379 717
&R 709 625 729 1,354 &I 24 53 63 116 =53 121 108 128 236
=YH 599 611 620 1,231 AR 240 279 277 556 JI| U5 145 150 143 293
=25 1,840 1,911 1,992 3,903 EH 187 174 226 400 e $3 60 64 67 131
B 44 1,294 1,391 1,455 2,846 KiH 72 60 76 136 IR 1,069 1,170 1,209 2,379
g} 471 413 462 875| | BEA 25 20 21 41 15 990 1,062 1,148 2,210
| i= 237 211 213 44| | BTH 18 12 20 32
NEH 25 25 22 47 ¥ 305 291 299 590




